Solving Equations Practice Test 1.1-1.4

1. To which subsets of the real numbers does the number 1.48 belong?
a. natural numbers, whole numbers, integers, rational numbers
b. rational numbers, irrational numbers
c¢. , rational numbers
d. none of the above

2. To which subsets of the real numbers does the number 63 belong?
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3. To which subsets of the real numbers does the number /19 belong?
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4. What is the order of «E ,—0.9, — %, 0.6, »VE from least to greatest?
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What is the solution of the equation?
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